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Z=-88 PPI(YoY) -1.7%-> -0.8% (0]l &:-0.9%)
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DOW30 1808545 (-2.13%)
NASDAQ 512591 (-2.54%)
S&P500 2127.81 (-2.45%)

NIKKEI225  16965.76 (+0.04%)
SHANGHAI 3078.85 (-0.55%)

FTSE100 6776.95 (-1.19%)
DAX30 10573.44 (-0.95%)
CAC40 449140 (-1.12%)

gt G 7|Ea2 Q4 Yo =it 4S5
Q3/9p 11231 (-0.0028)

Qz/0 11533 (-0.06)

Shg/ol 10270 (+0.23)

SH2{/90  6.6684 (+0.0064)

e /2 1.32650 (-0.00292)

NDF 1109.00 / 1109.509..10.509 Atz
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WTI 4588  (-3.7%)

COMEXZE 133450 (-0.50%)
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5. MY 2 X|E

[Am 2037.87 (-1.25%)
AL 664.99 (-0.36%)
|l/2 2! 1098.40 (+5.80)
KTB 110.68 (-0.15)
LKTB 132.22 (-0.57)
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3y 1328% (+4.0bp)
Sy 1376% (+4.9bp)
10y 1.512% (+4.3bp)
CD 1.340% ( 0.0bp)

7. EC-Ag AT

3y -5.3bp ( 0.0bp)
Sy -8.6bp (-0.2bp)
10y -16.5bp (+1.0bp)

8. IRS/CRS &%
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RS 22|

1Y  1.2850% (+2.25bp)
2Y  12725% (+3.25bp)
3y 12750% (+4.00bp)
5Y  12900% (+4.75bp)
7Y 13000% (+5.00bp)
10Y 13475% (+5.25bp)
12Y  -125 (+1.00bp)
2*3Y 025 (+0.75bp)
2*5Y 175 (+1.50bp)
3*5Y 150 (+0.75bp)
5*7Y  1.00 (+0.25bp)
5*10Y 575 (+0.50bp)
*CRS 22|

1Y 11900% (+2.00bp)
2Y 1.1100%  (+2.00bp)
3y 1.0900%  (+2.00bp)
5Y  1.0350%  (+2.00bp)
7Y  0.9900% (+1.50bp)
10Y 0.9800%  (+1.00bp)
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*O= 78 EO0iX{2 0.3%-> 0.0% (0 &5:0.1%)
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U=-8E PPI(YoY) (0 &+:-3.5%, 0]|™:-3.9%)

9%l 13

3-8 AAMAH(YoY) (0] 41:6.1%, O|7F:6.0%)

-88 AO§THOH(YoY) (0f44:10.3%, 0]7:10.2%)
=Q-82 CPI(MoM) (0 4:0.0%, 0]%1:0.0%)

9% ZEW Z7|7|CHX|4= (0] 4AH2.5, O]F:0.5)
Y=-82 CPI(YoY) (0] 4:0.7%, 0]7:0.6%)
ot=-83 SZ=7HX[==(YoY) (0| H:-7.5%)
=Y = 7HX|5=(YoY) (0]:-7.1%)
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9 14¢
0| 2-82 £=ZEZ7IX|4=(MoM) (04| 44:0.1%, 0|F:0.2%)
-89 Q2 7}X|4(MoM) (0f| A:-0.1%, 0]F:0.1%)
QEZE-72 AMAMA(MoM) (0 AH:-0.9%, 0|7H:0.6%)
S=-78 BT SR+ (0e:2.1%, 0|7H:2.4%)
78 HYE (0)4:4.9%, 0|H:4.9%)
22-78 Lgdt

9% 15

[BOE 7|==2| 23]

0|2-8% PPI

—~

MoM) (0f| &+:0.1%, O|7d:-0.4%)

-8 2@ A0l (0 &4:0.2%, 0|7:-0.3%)
-8 AOfEHOf (0f &4:0.1%, 0]7:0.0%)
98 78 AOoO[0AHOIE MZ=YX|S (04)h:-1.00, O|F:-4.21)
-82 AHQIAHAH(MOM) (04| Af:-0.3%, O|ZH:0.7%)
7€ 7| XD (MoM) (0| A+0.1%, 0]7:0.2%)
A 2-82 AO|THOf(MoM) (0| AF:-0.4%, O|7:1.4%)
o2 =-82 CPI(YoY) (0] 4+:0.2%, 0]|%:0.2%)

.78 29l2X| (0f4H:26.5B, 0|7F:29.2B)
9¢ 16Y
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0j=-83g =& CPI(MoM) (0| &4:0.2%, O|%:0.1%)
-82 CPI(MoM) (0f| 4+:0.1%, O|7:0.0%)

ot=-88 +=Z(Yov) (0|H:2.6%)

(YoY) (0| F:0.1%)
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